ESTIMATE

Enforcement One Inc. 381 Roberts Rd Oldsmar, FL 34677 sales@enforcementone.com +1 (727) 816-9833 www.enforcementone.com



City of Clearwater- Clearwater Police

Bill to
City of Clearwater - Accounts Payable
100 S Myrtle Ave
PO Box 4748
Clearwater, Fl 33756-5520

Ship to

City of Clearwater - Clearwater Police City of Clearwater - Clearwater Police 645 Pierce St. Clearwater, FL 33756

Shipping info

Ship date: 12/29/2021

Estimate details

Estimate no.: 4752

Estimate date: 07/08/2025

Sales Rep: Nathan Spece

#	Product/service	Mark Up	Description	Quantity	Rate	Amount
1.			Marked Patrol Explorer			
2.	EB2****		FL FSA PKG 0822 LEGACY WCX 54" BLACK OUT PKG STT MKLP** STPLP** C399 CCTL7 C399SP CV2V SA315P SAK75D	4	\$2,511.52	\$10,046.08
3.	CEM16		WeCanX 16 OUTPUT EXPANSION MOD	8	\$138.23	\$1,105.84
4.	RPWS50		ION REARPILLAR WC SOLO UTILITY	4	\$779.48	\$3,117.92
5.	SA315P		Whelen 100 watt speaker, thin profile, 123db, nylon/composite	4	\$166.32	\$665.28
6.	SAK75P		2025 Ford Police Interceptor Utility, Passenger Side Grille	4	\$0.00	\$0.00
7.	PSJ02FCR		Strip-Lite� Plus Surface Mount Super- LED� Seriesduo Red/Blue QTR GLASS	8	\$90.925	\$727.40

B880Z LE RST WCX 10-LT S/D UTILITY REAR INNER WINDOW REAR INNER WINDOW REAR INNER WINDOW REAR ENDS	8.	PSBKT90	90 degree mounting bracket	8	\$19.01	\$152.08
Linear Super LED Surface Mount	9.	BS50Z	REAR INNER WINDOW	4	\$689.63	\$2,758.52
Linear Super LED Surface Mount Round Lighthead Round Lighthead Round Lighthead Round Lighthead Round Lighthead Round For Two U-Series Lighthead Round For Two U-Series Lighthead Rarker LED Side View Mirror Option) 19. TIONWEDG MOUNTING WEDGES ION-T-SERIES 8 \$15.00 \$120.00 14. TLIZE ION T-SERIES LINEAR DUO B/W GRILLE/FOG 15. TLIZD ION T-SERIES LINEAR DUO R/W GRILLE/FOG 16. VTX9D VERTEX SUPER-LED DUO RED/WHT HEADLIGHT/Tail 17. VTX9E VERTEX SUPER-LED DUO RED/WHT HEADLIGHT/Tail 18. TCRWXS SLIPH HUSING AND TORK Specific Mounting Purchased Separately B/R/R/R/B WHITE OVERRIDE 19. TCRB50 2020 Ford Police Interceptor Utility Running Board Mounting Kit, for 5 or 6 Lamp Tracer◆, Each 20. VX2J VXE DUO DIRECTIONAL LT RED/BLU 8 \$99.79 \$399.16 22. TLIZD ION T-SERIES LINEAR THIO R/B/W PLATE TRIM 22. TLIZD VX Specific Silnear Thio R/B/W PLATE TRIM 23. TLIZE VX Specific Silnear DUO R/W Rear Bumper 24. CHWLFE29 VX Specific Silnear DUO R/W Rear Bumper 4 \$390.79 \$399.16 24. CHWLFE29 VX Specific Silnear DUO R/W Rear Bumper 24. CHWLFE29 VX Specific Silnear DUO R/W Rear Bumper 4 \$390.79 \$399.16	10.	U180D	Linear Super LED Surface Mount	4	\$195.78	\$783.12
Usilly, Under-the-Side View Mirror Mount for Two U-Series Lightheads, Par (for Use with Ford's Factory Side Marker LED Side View Mirror Option)	11.	U180E	Linear Super LED Surface Mount	4	\$195.78	\$783.12
14. TLIZE ION T-SERIES LINEAR DUO B/W GRILLE/FOG ION T-SERIES LINEAR DUO R/W GRILLE/FOG ION T-SERIES LINEAR DUO R/W GRILLE/FOG ION T-SERIES LINEAR DUO R/W GRILLE/FOG VERTEX SUPER-LED DUO RED/WHT B \$57.66 \$461.28 HEADLIGHT/Tail 77. VTX9E VERTEX SUPER-LED DUO BLU/WHT B \$57.66 \$461.28 HEADLIGHT/Tail 18. TCRWX5 S Lamp Housing and TCRL* DUO 8 \$495.00 \$3,960.00 Lightheads*. 'L* Bracket Mounting (6 Required) or Verbicle Spacific Mounting Purchased Separately B/R/B/R/B WHITE OVERRIDE 19. TCRB50 2020 Ford Police Interceptor Utility R/m for 5 or 6 Lamp Tracer ► Each 20. VX2J VXE DUO DIRECTIONAL LT RED/BLU 8 \$95.25 \$762.00 \$200	12.	U18050	Utility, Under-the-Side View Mirror Mount for Two U-Series Lightheads, Pair (For Use with Ford's Factory Side	4	\$22.17	\$88.68
SPILLE/FOG 10N T-SERIES LINEAR DUO R/W 12 \$99.79 \$1,197.48	13.	TIONWEDG	MOUNTING WEDGES ION-T-SERIES	8	\$15.00	\$120.00
GRILLE/FOG	14.	TLI2E		12	\$99.79	\$1,197.48
HEADLIGHT/Tail 17. VTX9E VERTEX SUPER-LED DUO BLU/WHT 8 \$57.66 \$461.28 HEADLIGHT/Tail 18. TCRWX5 \$5 Lamp Housing and TCRL* DUO♠ Lightheads. *L* Bracket Mounting (6 Required) or Vehicle Specific Mounting Purchased Separately B/R/B/R/B WHITE OVERRIDE 19. TCRB50 \$2020 Ford Police Interceptor Utility Running Board Mounting Kit, for 5 or 6 Lamp Tracer♠, Each 20. VX2J VXE DUO DIRECTIONAL LT RED/BLU 8 \$95.25 \$762.00 21. TLISJC ION T-SERIES LINEAR TRIO R/B/W 8 \$110.50 \$884.00 PLATE TRIM 22. TLI2D ION T-SERIES LINEAR DUO B/W 4 \$99.79 \$399.16 23. TLIZE ION T-SERIES LINEAR DUO B/W 4 \$99.79 \$399.16 24. CHWLFE29 WCX LO FREQ SIREN AMP 4 \$320.44 \$1,281.76	15.	TLI2D		12	\$99.79	\$1,197.48
HEADLIGHT/Tail 18. TCRWX5 \$\begin{array}{cccccccccccccccccccccccccccccccccccc	16.	VTX9D		8	\$57.66	\$461.28
Lightheads. "L" Bracket Mounting (6 Required) or Vehicle Specific Mounting Purchased Separately B/R/B/R/B Separately B/R/B/R/B 19. TCRB50 2020 Ford Police Interceptor Utility Running Board Mounting Kit, for 5 or 6 Lamp Tracer ♠, Each 8 \$0.00 \$0.00 20. VX2J VXE DUO DIRECTIONAL LT RED/BLU 8 \$95.25 \$762.00 21. TLI3JC ION T-SERIES LINEAR TRIO R/B/W PLATE TRIM 8 \$110.50 \$884.00 22. TLI2D ION T-SERIES LINEAR DUO R/W 4 \$99.79 \$399.16 23. TLI2E ION T-SERIES LINEAR DUO B/W Rear Bumper 4 \$99.79 \$399.16 24. CHWLFE29 WCX LO FREQ SIREN AMP 4 \$320.44 \$1,281.76	17.	VTX9E		8	\$57.66	\$461.28
Running Board Mounting Kit, for 5 or 6 Lamp Tracer ♠, Each 20. VX2J VXE DUO DIRECTIONAL LT RED/BLU 8 \$95.25 \$762.00 21. TLI3JC ION T-SERIES LINEAR TRIO R/B/W PLATE TRIM 8 \$110.50 \$884.00 22. TLI2D ION T-SERIES LINEAR DUO R/W 4 \$99.79 \$3399.16 23. TLI2E ION T-SERIES LINEAR DUO B/W Rear Bumper 4 \$99.79 \$399.16 24. CHWLFE29 WCX LO FREQ SIREN AMP 4 \$320.44 \$1,281.76	18.	TCRWX5	Lightheads. "L" Bracket Mounting (6 Required) or Vehicle Specific Mounting Purchased Separately B/R/B/R/B	8	\$495.00	\$3,960.00
21. TLI3JC ION T-SERIES LINEAR TRIO R/B/W PLATE TRIM 10N T-SERIES LINEAR DUO R/W 10N T-SERIES LINEAR DUO B/W Rear Bumper 24. CHWLFE29 ION T-SERIES LINEAR DUO B/W RESPONSIBLE NAMP 10N T-SERIES LINEAR DUO B/W RESPONSIBLE NAMP	19.	TCRB50	Running Board Mounting Kit, for 5 or 6	8	\$0.00	\$0.00
PLATE TRIM 22. TLI2D ION T-SERIES LINEAR DUO R/W 4 \$99.79 \$399.16 23. TLI2E ION T-SERIES LINEAR DUO B/W Rear Bumper 4 \$99.79 \$399.16 24. CHWLFE29 WCX LO FREQ SIREN AMP 4 \$320.44 \$1,281.76	20.	VX2J	VXE DUO DIRECTIONAL LT RED/BLU	8	\$95.25	\$762.00
23. TLI2E ION T-SERIES LINEAR DUO B/W 4 \$99.79 \$399.16 Rear Bumper WCX LO FREQ SIREN AMP 4 \$320.44 \$1,281.76	21.	TLI3JC		8	\$110.50	\$884.00
24. CHWLFE29 Rear Bumper WCX LO FREQ SIREN AMP 4 \$320.44 \$1,281.76	22.	TLI2D	ION T-SERIES LINEAR DUO R/W	4	\$99.79	\$399.16
	23.	TLI2E		4	\$99.79	\$399.16
	24.	CHWLFE29		4	\$320.44	\$1,281.76

25. HATCHKIT	Qty 2 White / Red dome lights with 3 way switch	4	\$150.00	\$600.00
26. PS-20UV-SC-OS-FX	2020-24 PI Utility Single Cell with Poly window half cage, kick panel w/ foot pocket, metal/poly divider with removable panel (Patent Pending), center seat floor plate, replacement plastic seat with OS seatbelt system, TROY rear partition square-hole pattern with driver side fire extinguisher compartment	4	\$2,021.25	\$8,085.00
27. GM-SGL-SC	Universal single weapon mount for single-cell Ford PIU, F150 and Tahoe	4	\$225.00	\$900.00
28. GL-SC-6	Universal weapon lock	4	\$162.75	\$651.00
29. C-VS-1012-INUT	High Angled Console For 2020-2023 Ford Interceptor Utility	4	\$433.44	\$1,733.76
30. C-ARPB-146	Brother Pocketjet 4200 Series Printer Mount With Accessory Pocket & Tall Armrest	4	\$319.68	\$1,278.72
31. C-ADP-101	Multi Manufacturer Laptop Adapter Plate	4	\$48.96	\$195.84
32. c-md-119	11" Slide Out Locking Swing Arm with Low Profile Motion Device Adapter Part # C-MD-119	4	\$264.24	\$1,056.96
33. C-EB30-HXL-1P	1-Piece Equipment Mounting Bracket,3" Mounting Space, FitsHarris/L3Harris XL control head	4	\$0.00	\$0.00
34. C-EB40-CCS-1P	EB For Whelen SIren/Controller	4	\$0.00	\$0.00
35. C-FP-xx	Havis filler plates as needed	4	\$0.00	\$0.00
36. CUP2-1001	Self-Adjusting Double Cup Holder	4	\$48.24	\$192.96
37. 7160-0250	Gamber NotePad V universal computer cradle	4	\$365.00	\$1,460.00
38. RJ4230B	RuggedJet RJ4230B: Mobile 4 DT Printer w/USB, Bluetooth/MFi, NFC Pairing - Includes: 2 Year Premier Warranty, Doc Set, Roll Holder Stop, Strain Relief Clip, Belt Clip & ZPL/CPCL No Battery 2 year warranty 2.43#	4	\$657.88	\$2,631.52
39. LB3692	Car Adapter - Wired - 14 Foot Length for Ruggetjet4 , PocketJet 3, 6, & 7 1 year warranty 1#	4	\$25.90	\$103.60

40. USBC100-5460	USB-C Auto Charger For Dell Laptop	4	\$144.00	\$576.00
41. LB3603	Pocketjet USB Cable - 10 Foot .25#	4	\$15.60	\$62.40
42. CP-UV20-CARGO	PI Utility Standard tilt-up cargo mount w/gas shocks.	4	\$615.60	\$2,462.40
43. AC-20-UV-TRAY	PI Utility electronics tray bolts to CP-UV20-CARGO.	4	\$206.712	\$826.85
44. MISC	Wires, Loom, Connectors, Ect	4	\$100.00	\$400.00
45. Shipping	Shipping	4	\$250.00	\$1,000.00
46. Install	Installation	4	\$3,025.00	\$12,100.00

Total \$67,668.65

Accepted date

Accepted by